2. Mot =2

B 3T (Yu5Y)

(cHe| - siobel %)

e 20134 5 . 2ot2dE sEE(%)
g = z = SESTTIEEE- ]
AH 3,717,082 ©lg& | 3,446,140 ©lg @ 3,792,925 | H|g 7.9 N2.0
PSR 685,000 18.4 683,000 | 19.8 682,800 18.0 0.3 0.3
M2 = ¢ 298,109 8.0 229,913 6.7 378,098 @ 10.0 29.7 | A21.2
X gkm E A 662,200 17.8 608,600 17.7 699,239 18.4 8.8 N5.3
TI1E=xF 1,943,273 52.3 | 1,799,627 | 52.2 | 1,912,788 50.4 8.0 1.6
X gz S 128,500 3.5 125,000 3.6 120,000 3.2 2.8 7.1
W 2us|A (Eb3l - sl %)

5 o= A _ 20129 ¢ _ _%7:.*%_%)
g = z = SEJETIEETE ]
A 3,259,300 Hg | 3,037,000 Hlg 3,342,975 H| S 7.3 N2.5
A2 A 685,000 21.0 683,000 | 22.5 682,800 20.4 0.3 0.3
Mool = & 127,178 3.9 100,474 3.3 202,599 6.1 26.6 A37.2
X gk m A 662,200 20.3 608,600 20.0 699,239 @ 20.9 8.8 A5.3
S = 1,756,422 53.9 1,634,926 @ 53.8 1,748,337 52.3 7.4 0.5
A & X S 28,500 0.9 10,000 0.3 10,000 0.3 | 185.0 185.0

O X| gk M| : 6,850 (12 EECHH| 0.3% 5, =/ ECHH| 0.3%3)
- HEA 5170999 : H5A 3,650, 55U A 210, A4 H Al 1,310
- BA4A 1,580 : A GAAA DA 260, AHEA 1,320
- Ad =49 10091¢Y

O Me|=el 1,272 ¢ (12 §=riH| 26
- AR Y 18799 1 AAAUNGFY 6, AL ESFS

- AAIH ALY 1,085 ¢ AAtul k] 63, o
o]
H

O X|HWEAM @ 6,622 ('12 S=CHH| 8.8%, = SCiH| A5.3%%)
- BEEA 16,2009, A 42299
¥ 123 F AN uRAE 6,9929990 =
- HEWYA 6,490, EPREA 427, EHWRA 75
QO ZDEZZ 17,5642 (12 S=EC0HH| 7.4%ZF, = SHH| 0.5%F)
- Auk=a1 11,382, FE R FH 4,488, 7] 1,694
¥ 123 F AR FFS 174839007
- Yuk=ar 11,954, F5EZXH 4,631, 719 898
O XS : 28522 (12 E=CiH]| 185%F, = EHH| 185%3F)
- A7 §2b= 285994
# 123 F A A= 1009 9AAF ALY F §AE 100)
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2. Mot =2

(Shel : eHabel %)
HE SHE(9
2 = - _ 2012 » 2(%)
= z = SHECfH| | =By
Al 457,782 | dlg 409,140 uI8 449 950 H|g 11.9 1.7
N gk Al - - - - _ - _ _
M2l = ¢ 170,931 | 37.3 129,439 @ 31.6 175,499 = 39.0 32.1 N2.6
A b & A - - - - - - - -
12 xZF 186,851 | 40.8 164,701 40.3 164,451 | 36.5 13.4 13.6
A A S 100,000 21.8 115,000 @ 28.1 110,000 24.4 @ A13.0 A9.1
O A 5= (Ml4=2l) 1 1,709 (‘12 SHECHH| 32.1% S, %/ ZCHH| A2.6%2)
- AAAAL Y 3009 Y, dAAAL]4Y 1,40999 ¢
O FIHEHZF: 1,8692¢ (12 SE0iH| 13.4% 5, = ESHH| 13.6%35)
[ZIEtEE3|A : 3] (Ch9| @ eHmkel %)
H T =222 (%
2 s N _ 20124 _ S8 %)
= z B EE LINEEEE L]
Al 255,482  H|g 224,440 | H|g 229,427 | H|g 13.8 11.4
Xog A - - - _ _ _ _ _
M2l %= ¢ 68,631 | 26.9 59,739 | 26.6 64,976 | 28.3 14.9 5.6
A| gk 5 A - - - - - - - -
T 312 xF 186,851 | 73.1 164,701 73.4 164,451 71.7 13.4 13.6
A oS - - - - _ _ _ _
O ZeE2Itfst2d : Mel¢l 929 <l
- A0A AT 11999, AA AT 819 (Auks]| Al Mg 749 Y-"129% 789 ¢)
O SBEF07|22Y : Me+¢ 46042, =TH == 1,869
- AL 46999 (oA, AT 1, AN AIAY] T 235, AXEA G H 229, 7 EFFEY
O S SXREIF2Y : Me=¢ 125992
- Aol 92999 (oA 3, o H 97, g A FEF5Y 25)
[S7IHEESA : XA LT|Z] (chol - wyorel o)
He SLE(9
5 o= 00134 = _ 20124 » _ (%)
=T 3 z = SEI T IEE =
Al 202,300 g 184,700 @ g 220,523 | tlg 9.5 A8.3
N gk Al - - - - _ - _ _
M2l = ¢ 102,300 | 50.6 69,700  37.7 110,523  50.1 46.8 AT.4
x| g m 8 A - - - - - - - -
2T oHE =2 - - - - - - - -
A oA S 100,000 49.4 115,000 @ 62.3 110,000 49.9 A13.0 A9.1
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2. Miojlat =2

W HES A ML

(ctol - wigkel %)
2012H = SUE(%)
T o= 20189 = g = z = SESTTIEEE- ]
AH 3,259,300 Hl& @ 3,037,000 Hl& @ 3,342,975 dH|8 7.3 N2.5
X8 A 685,000 21.0 683,000 22.5 682,800 @ 20.4 0.3 0.3
2SAM 517,000 15.9 519,000 | 17.1 496,173 | 148 104 4.2
- FHEA 365,000  11.2 367,000 12.1 348,860 10.4  A0.5 4.6
C T EHE A

(=) 21,000 0.6 27,000 0.9 20,926 0.6 | A222 0.4
. Eri; *‘ﬂ — — — — — — — —
2| 2] A 131,000 4.0 125,000 41 126,387 3.8 4.8  100.0
=AM 158,000 4.8 154,000 5.1 153,327 4.6 2.6 3.0
' (X_];glﬁé’jﬁ‘ﬂ 26,000 0.8 24,000 0.8 23,327 07 83 115
- A G A - - - - - - - -
AR SR 132,000 4.0 130,000 4.3 130,000 3.9 1.5 1.5
R == 10,000 0.3 10,000 0.3 33,300 1.0 0.0 A70.0
Mool = & 127,178 3.9 100,474 3.3 202,599 6.1 26.6 | A37.2
AMHEAM 252 18,719 0.6 18,322 0.6 18,987 0.6 2.2 A4
- AR Y 604 0.0 692 0.0 642 0.0 Al12.7 A5.9
- AMEESY 3,584 0.1 3,719 0.1 3,864 0.1 A3.6 AT.2
FEESY 2,414 0.1 2,381 0.1 2,627 0.1 1.4 A8.1
A 1,905 0.1 1,861 0.1 2,185 0.1 2.4  A12.8
- AT 5,212 0.2 4,669 0.2 4,669 0.1 11.6 11.6
o] A Y 5,000 0.2 5,000 0.2 5,000 0.1 0.0 0.0
AAH M| 2| ¢ 108,459 3.3 82,152 2.7 183,612 5.5 32.0  ~40.9
- Akl 24 6,303 0.2 4,711 0.2 8,468 0.3 33.8  A256
CEAAIL AT 27,042 0.8 23,000 0.8 79,892 2.4 17.6 | A66.2
-oldH - - - - 2,510 0.1 0.0 | A100.0
IR IE=t 41,101 1.3 22,349 0.7 23,525 0.7 83.9 74.7
- gAEAETY 3,600 0.1 3,396 0.1 3,396 0.1 6.0 6.0
= 10,319 0.3 8,816 0.3 9,960 0.3 17.0 3.6
7B 19,694 0.6 19,480 0.6 55,461 1.7 1.1 A64.5
CAGd =Y 400 0.0 400 0.0 400 0.0 0.0 0.0
AL w &N 662,200 20.3 608,600 | 20.0 699,239 @ 20.9 8.8 A5.3
- HE A 620,000 19.0 570,300 18.8 649,057 19.4 8.7 N45
- EA LA 42,200 1.3 38,300 1.3 42,679 1.3 10.2 AT
R T | - - - - - - 0.0 -
- 5 0 RA - - - - 7,503 0.2 0.0 | A100.0
T IH=TF 1,756,422 | 539 1,634,926 | 53.8 | 1,748,337 | 52.3 7.4 0.5
e = 1,138,184 349 1,108,855 36.5 1,195,398 35.8 2.6 A48
dEHTZ 448,779 13.8 459,010 | 15.1 463,117 | 13.9 N2.2 A3.1
JZ2E=EZ 169,459 5.2 67,061 2.2 89,822 2.7 1527 88.7
X &AM S 28,500 0.9 10,000 0.3 10,000 0.3 185.0 185.0
el = - - - - - - - | #DIV/0!
XA = 28,500 0.9 10,000 0.3 10,000 0.3 185.0 185.0
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